INTERACTIVE WORKSHEET 02

. Divide the numbers by long division method and fill in the
blanks.

1. Divisor = 5: Dividend = 38 3. Divisor = 8; Dividend = 26

Quotient: [ |; Remainder : [ ] Quotient: [ | Remainder :[ |

2. Divisor = 3; Dividend = 26 4. Divisor = 7; Dividend = 44

Quotient: [ | Remainder : [ | Quotient: [ | Remainder : [ |

II. Write the missing numbers.

5. Divisor = 2 Dividend = 9 Remainder = 1 Quotient = [ ]

6. Divisor = 7 Dividend = 51  Remainder = [ | Quotient = 7
7. Divisor =[ | Dividend = 24  Remainder = 0 Quotient = 3
8. Divisor = 9 Dividend = [ | Remainder = 0 Quotient = 7
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